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sgrEren : ABCDE FGHIJ KLMNO PQRST UVWXYZ

Section II

Intelligence Test

260 LR, GE,M,I,N,A, T, N, O from the given letters form a meaningful word and find
out the second letter to the right of the middle letter.

(1) M 2 T (3) R 4) 1
Instructions for Q 27 to Q 31. Find the odd term.

27. (1) Rome (2) Berlin (3) Hamburg (4) Munich

28.

Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

30. (1) 7213 (2) 5357 (3) 5549  (4) 8729

31. (1) CO (2) BX (3) DL (4) FH

32. AgeofAis double of age of C but % times that of B. If sum of their ages is 52 years than

what is the ratio of the ages of C and B ?
(1) 3:4 (2) 3:2

(3) 2:5 4) 5:3

33. Identify the rule underlying sequence and determine the number in place of the
question marks. (Select two correct alternatives)

(M Jo (2)3 3)9 ® o1

34. How many triangles are there in the given figure ?

(1) 11 (2) 28 (3) 12 (4) 13

Space for Rough Work
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35. Gavatphula Re Gavatphula : Indira Sant :: Chaitrapadva : ?
(1) Ashok Thorat (2) Shankar Vaidya
(3) Mangala Gokhale (4) Keshav Sut

36. Question Figures

=06 e

/p\

(1) 2) 3) 4)
37. 17:297::13 : ? (Select two correct alternatives)
(1) 177 (2) 182
3) 173 (4) 165

38. 22:462:: ? :756

(1) 29 (2) 24
(3) 27 4) 28
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

39. % : % - % : ? (Find out two correct alternatives)
R X
) T @) T
N X
3 5 @

40. To the left of Rakesh at 12th place Ajay is standing who is at 7th place to the right of

Amar who is exactly at the middle place in the row. Find the minimum number of boys
standing in the row.

(1) 13 (2) 17
(3) 19 4) 15

41. How many faces are there in the following figure ?

L 17

(1) 16 2) 15 3) 17 (4) 18

Space for Rough Work
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Instruction for Q. 42 & Q. 43.

—Cricket Players

42. How many players play only two games ?
(1) 26 2) 9
(3) 21 4) 16
43. How many Kho-Kho players can not play Kabaddi ?
(1) 20 (2) 27
(3) 16 4) 13
44. A leap year starts from Sunday on which day Santosh will resume his duty if he has
taken 18 days leave from 15th May ?
(1) Saturday (2) Sunday
(3) Friday (4) Monday
Space for Rough Work
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Alphabets : ABCDE FGHIJ KLMNOPQRST UVWXYZ

45. Find out the number which will replace the question mark in the given square ?

51 31|64

5|33 6

g | 7 ?
(1) 4 (2) 6
3) 9 4) 2

Q 46 to Q 50 Instructions : A series of numbers/figures/symbols/letters is given below
Determine the rule underlying the series and find out the term in place of

the question mark.
46. 0,4,18,?,100, 180, 294
(1) 42 (2) 58

(3) 32 (4) 48

47. 6,-1, 14,11, 30,31, ?

(1) 45 (2) 54
(3) 44 (4) 49
Space for Rough Work
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48. Question figures

Dl gl

> y ¥

Answer figures

o OAEFY, xoam, !, Atigo

50. ABCDE FGHIJ KLMNO PQRST UVWXY

RLF, OJE, LHD, IFC,? (Select two correct alternatives)

(1) UNG (2) FCA
(3) FED (4) FDB
Space for Rough Work

0522 -A 14 of 24 P.T.O.
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51. Atul and Arun are standing face to face. Atul faces South-West direction. Arun turns
to his right two times in 90°. Which direction will be on the left of Arun ?
(1) South East (2) West
(3) South West (4) East
52. At 8.20 what will be the measure of the angle between minute hand and hour hand of
clock ?
(1) 115° (2) 125°
(3) 110° (4) 130°
53. What will be the water image of the given figure ?
In the following quetion, a question figure is given below. Identify the water reflection
of that figure and select the correct alternative.
Question figure
LAV i iV i
Answer figures
TPTFZFT I
(1) 2) 3) 4
Space for Rough Work
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Instructions for Q. no. 54 and Q. no. 55 for the given question figures choose the correct
mirror image from the alteratives.

54. Question figure

JZK

Answer figures

AN AZLRATD) (A

(1) ) 3) 4

55. Quesion figure

.
g
#
s
/
"
/
%
Answer figures
_— NN
(1) (2) 3) 4)
Space for Rough Work
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56.

Two statements and two conclusions are given below. Find out the suitable alternative.
Statements :  (A) All teachers are artists.

(B) Few artists live happily.
Conclusions : (c) All teachers live happily.

(d) All those who live happily are artists.

Alternatives
(1) Only ‘C’ true (2) ‘C’ and ‘D’ both false
(3) Only ‘D’ true (4) ‘C’ and ‘D’ both true

Instruction for Q. no. 57 to Q. no. 59. Arrange the given letters/signs/numbers in series
and find out the suitable letters/signs/numbers replacing the blanks.

57. p__qdl_lbq___ 1dbgpl __gb
(1) bgdpd (2) bpbpd
(3) bbppd (4) bpdpd
. OVy xx_O_*¥V_O_¥*x00x%_9]
O ox<Oom @ ovoOXOd
3 OXOVY 4 OO0XTIX
59. 23 6692 _ 466923466 234 69234
(1) 4396 (2) 6394
(3) 4433 (4) 2346
Space for Rough Work
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Q 60 to Q 62 : Observe the following pyramid and choose the correct alternative to replace
the question mark.

y X W A u t S r q

20 19 18 17 16 15 14 13

60. wjilb :spend:: ? : tofmc
(1) vkmhb (2) unglh
(3) vkhmc (4) v-k-8-1-7-5

61. J-x-v-18-9: ? ::i-k-m-9-4 : e-0-m-10-5

(1) p-r-t-n-g (2) p-r-t-15-10
(3) p-r-s-14-11 (4) p-r-t-16-11
Space for Rough Work
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62. 6-18-20-j-19 : 3-15-13-P-14 : : b-1-j-20-x : ?
(1) d-n-p-13-r (2) d-n-p-12-r
(3) d-n-p-13-g (4) d-n-p-13-e

63. “This year on the occasion of ‘Reading Inspiration Day’ it has been resolved to read
thousand books. In the given sentence how many times the Sth letter of English alpha-
bet is repeated ?

(1) 6 (2) 4

3) 8 4) 7
64. Alphabet series :

ABCDE FGHIJ KLMNO PQRST UVWXY

If the given letter series is written in reverse order, then which alternative gives the
correct numbers that indicate the word which is antonym of the word “NIGHT” ?

(1) 25,21,22 (2) 14,17, 19, 18, 6
(3) 22,25, 1 (4) 12,17,19, 18,6

65. From the given alphabet series, if a new series is formed by taking 2nd and 4th letter of
each group then find the pairs of letters which are at the same distance from both side.
(Find two correct alternatives)

(1) LN (2) GS
(3) IN (4) QL

66. ‘A generous man started a free mess with water facility for the orphans.’ In the given
sentence for which group of words one word is not there.

(1) Having no parents (2) A person who is kind
(3) A place where food is available (4) A person who is very sensible
Space for Rough Work
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67

68.

69.

. Find the odd term. (Select two correct alternatives).

20, 39, 56, 69, 81, 87, 92, 95, 96
(1) 96 2) 56
(3) 87 (4) 81

In the table below numbers are given to different symbols.

Dloja|V IV x|x|e|mip|0lam|A
4

Clisltg s lwxjujte|8| 8| 7]6¢

e [(8) (84D

() & 2 VY
3) O @ A

The monitor of the class instructed the students, in a specific manner. He used letter

\r

‘A’ for listening, B for writing, C for reading, D to stand up and E to sit down. Observe
the following series of instruction given by the monitor and find out the action done for
the maximum number of times by the students.

BACDBAAEDIBABDEACBACCATB

(1) Read (2) Write
(3) Listen (4) Sit down
Space for Rough Work
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70. In a code language if POT is written like PUOPTQ, OUT is written as OUUVTP and
TEN like TOEFNU, then how the word CUT will be written ?

(1) CDUVTU
(2) CUUDTV
(3) CUUVTD
(4) CSUTTB

71. To complete the question figure. Choose the correct alternative.

Question figure

Answer figures

R R

(1) 2) 3) 4)

Space for Rough Work
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Instructions for Q 72 and Q 73. Choose the figure which completely resembles the
question figure.

72. Question figure

Answer figures

Q|| £

—

(D ) 3) 4
73. Question figure

Answer figures

(1) 2) 3) (4)
Space for Rough Work
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74. A piece of paper is folded and cut on the shaded part as shown in the question figure.
How would the paper look like when unfolded ?
Question figure

a
~.,
.
LY
%

L

L
e

[

.-
.
.
’ h
’ 1
]
[URPT .

*
e
o ad o

Answer figures

D DO

(1) 2 3) 4
75. In the following question, a complex figure is given. Find out which of the simple fig-
ure given in the alternatives is hidden in the complex figure.
Question figure

Answer figures

(1) (2) 3) 4)

Space for Rough Work
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